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SECTION-1 | GENERALAPTITUDE TEST | 25 QUESTIONS

Select the option that is related to figure (C)
in the same way as figure (B) is related to

figure (A).
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Identify the odd word.

Square, Triangle, Rhombus, Sphere,
Parallelogram, Rectangle, Circle, Pentagon,
Hexagon

(A) Triangle

(B) Sphere

(C) Circle

(D) Hexagon
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The list given below contains figures which
have something in common,

Cylinder, Cuboid, Sphere, Prism, Pyramid,
Cube

From the below given options, identify the

one that can be classified as part of this list.

(A) Rhombus
(B) Cone

(C) Square

(D) Paralielogram

Study the Venn diagram given below and

identify which option is cormect with reference

to the diagram.
Aeroplane

(A) Some birds are not acroplane.
(B) Allaeroplanes are birds.

(C) Allbirdscan fly.

(D) Some aeroplanes can fly.
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Q5  Two positions of a dice are shown below. If Q5 U u™ At 31 Ruftat g zofd wf &

number 6 is exactly opposite to number 3, aie ww@ 6, W 3% O fRvda 2, o
then which number is exactly opposite to HWem 2@ 9% Rudo IF @ den
number 2? grefy?

(A) 1 (A) 1
(B) 4 (B) 4
(C) 5 (C) 5
D) 6 D) 6

Q6  Inthe figure depicted below, if the pentagon Q6 A Turh ¥ sl ¥ aft dwmm ®

is rotated anti-clockwise 270° once and the 0% AR amEd 270° gawn o § afR
triangle is rotated clockwise 270° twice what PBrpe @1 &1 ar sl 270° gamn
will be the final figure ? e &, @ uRunfie anafar & & fi?
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(D) (D)
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Q8

Q9

Q10

Select the option that is related to the third
word in the same way as the second word is

related to the first word.

Q7

Kitchen : Refrigerator :: Bathroom : ?
(A) Television

(B) Geyser

(C) Microwave Oven

(D) Sewing Machine

In a certain coded language, if BRAKES is
written as TAGPNX and CLUTCH is
written as IBEJWR, then how will be the
word WHEELS written as in that language?
(A) TVMGFD

(B) TVNEHB

(C) XRJJHB

(D) TVNFHB

Q8

247 ROOSD

In a centain coded language, iFRAMESH is
written as TBNFTJ and MITALI is written
as NJVBNJ, then how will be the word
RANBIR written as in that language?

{(A) SBOCIJS

(B) SCODIJT

(C) TBPDIT

(D) TBPCKS

Q9

Deepika is the mother-in-law of Priyanka
whose husband is the father-in-law of the wife
of Ranbir. Salman is the only son of the
husband of Deepika while Katrina is the only
daughter of the mother of Ranbir. How is
Salman related to Katrina?

(A) Husband

(B) Brother

(C) Father

(D) Grandfather

Q10
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7% Aoy 7, s el 7= @ 9
&l & & wag 8, e g Te @
U5ol 718 @ 6M #)

vHg : weias o w7

(A) cenfaam

B) S Se—wr (o)
(C) #ZwEad 3iaw

(D) frend wvim

faeh Pfam e wn #§ afe BRAKES
& TAGPNX & &9 & foran omen 8 afim
CLUTCH &1 IBEJWR & &u # forar
W &, T w8 WHEELS ® fbe w9 #
forar smon?

(A) TVMGFD

(B) TVNEHB

(C) XRIHB

(D) TVNFHB

fpelt Mf¥am @ wr 3, 9fd RAMESH
@1 TBNFTJ & wu % forr aren & afiw
MITALI &1 NJVBN) & w9 # faran anen
2 o ig RANBIR &' fve w9 # foran
we?

(A) SBOCIS

(B) SCODIT

(C) TBPDIT

(D) TBPCKS

diftrem, e 6w & R ofty, worfie
U ® wER § | weE, dfte @
ufd &1 gHeen der & wafs ded,
WER B H B gHed 40 § | e -
&1 hed | T Hay #7

(A) ufay

(B) =g

(C) fuem

(D) =1=T
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Q11

Q12

Read the given statements and conclusions
carefully. Assuming that the information given
in the statements is true, even if it appears to
be at variance with commonly known facts,
decide which of the given conclusions
logically follow(s) from the statements.

Statements:

1. Some lions are cats.

2. Allcatsaretigers.

3. Notigerisan elephant.
4. Allelephants are rabbits.

Conclusions:

) Sometigers are lions.

) Noelephant isa lion.
Ill) Some cats are elephants.
IV) Some tigers are cats,

(A) Onlyconclusion Il follows.

(B) Only conclusions [ and 111 follow.
(C) Onlyconclusions Il and IV follow.
(D) Only conclusions land IV follow.

Select the option that can replace the
question mark (7) in the following series.

SUPER, PSRUE, RPESU, ERUPS, 7,
SUPER

(A) PSRUE

(B) UESRP

(C) EURSP

(D) USERP

LM-B
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V) &9 am, fafeear €1

(A) Taa Fmpd 11 argawor & &)

B) daa Femd 13 11 s &
gl

(C) Baa Fremd 11 afiw IV sEe &9
L4

(D) @ae Fred 13w 1V arERy o

&

75 fawe g ot iR & T Haen |
wwifae (7) & wfteenfia & asa 8

SUPER, PSRUE, RPESU, ERUPS, ?,
SUPER

(A) PSRUE

(B) UESRP

(C) EURSP

(D) USERP
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Select the number that can replace the
question mark (?) in the following series.

51,44, 49,42, 47,40, 45,38, 7
(A) 31
(B) 33
(C) 43
(D) 45

The ages of two friends Ramesh and Rajesh
are in the ratioof 4 : 3.

Which of the below pieces of information is

additionally required to answer what the

average age of Ramesh and Rajesh is?

(A) Ramesh is 10 years older than Radha
who is the younger sister of Rajesh

(B) The age difference between Ramesh’s
father and Rajesh’s mother is 8 years.

(C) 6 yearsago, the ratio of the ages of
Ramesh and Rajesh was 3 : 2.

(D) Rameshwas 12 years old when Rajesh
was in senior KG in his school.

Five friends A, B, C, D and E are seated ina
row and are watching a movie. A and D are
seated at the extreme ends while B is seated
exactly in the middle.

What additional information is required to

answer who is seated nextto A?

(A) B isseated immediately next to both C
andE.

(B) Cisnotseated nextioD.

(C) Cisseated nexttio B.

(D) B isseated nextto E.
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aE W g ot e ) g gwen 9
yErae (7) ® wftwenfia o aad @

51, 44, 49, 42, 47, 40, 45, 38,7
(A) 31
B) 33
(C) 43
(D) 45
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(A) B_.CalR ETFi & &% Tt # &1
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(C) C,B® wiTel # da1 §1

(D) B,E® aret # &7 B
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Q16 Aisthe brotherof Band sonof Cand D. E
is the husband of B and father of F.

What additional information is required to
answer how C is related to A?

(A) Bistheonly daughterof Cand D.
(B) D isthe maternal grandfather of F.
(C) Fistheonly grandson of C,

(D) AisthesonofC.

Q17 Inacertain coded language, INCOME is
written as HPENOG. How will be SAVING
written as in the same language?

(A) RCVHPG

(B) RXCHIP

(C) RCXHPI

(D) RCXHPG

Q18 Ifinacoded language MIND is written as
IMDN, how will be GAME wrilten as in
the same language?

(A) GEMA

(B) MEGA

(C) AGEM

(D) EGAM

LM-B

Q17

Q18

42038200

Q16 ABTHIWE BN CaR DI aeT I E, [E]:£[8)
B& of oiR F & e & Fex(E

g8 I o9 @ fag o W@ affRe
WHSHN @ e &, fF CH AD
| T Hay 87

(A) B,C 3R D@ s&cirdl 381 &)

(B) D,F @& -1 &}

(C) F,C & sepairar Ui &)

(D) A, C®T 921 &

v ffga g # INCOME &t
HPENOG & w4 ¥ forar wmar 2
SAVING &t S @ w1 # fhe vy #
forar smen?
(A) RCVHPG
(B) RXCHIP
(C) RCXHPI
(D) RCXHPG

afd v @e W § MIND #1 IMDN &
w9 ¥ feran o & o GAME & 94
wme Wt A fre wu o foran se?
(A) GEMA

(B) MEGA

(C) AGEM

(D) EGAM
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Q19

Q20

Q21

In the given series, one number is wrong.
Select the wrong number.

18, 22, 44, 48, 52, 100, 200
(A) 48
(B) 52
(C) 100
(D) 200

Select the number that will come next in the

following series.

3,4, 13,38, 87, 168, ?
(A) 199
(B) 289
(C) 203
D) 259

IFXAY implies X7 + )7

XBY implies X'- ¥?

XCY implies (X + ¥)?

XDY implies (X — ¥ )’ then,
Which of the following is TRUE?

(A) (7C3)-(6D6)=-100
(B) (3C2)D(5B5)=624
(C) (3A2)B(5C4)=88
(D) 216D256 =-1600

LM-B
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Q19

Q20

Q21

& ¢ @ ¥, U W@ Toid 8 a8
el weEn g1 |

18, 22, 44, 48, 52, 100, 200
(A) 48
(B) 52
(C) 100
(D) 200

g8 Wen g+ ol Fefefaa gaar
T MY |

3,4, 13,38, 87, 168, ?
(A) 199
(B) 289
(C) 203
(D) 259

afg XAY @7 awad X7+ ¥y @
XBY &1 o X7 Y#
XCY® arad (X + V) &
XDY &1 aead (X - V)° &

ar Frfafaa § & @ v @7

(A) (7C3) - (6D6)=~100
(B) (3C2)D(5BS)=624
(C) (3A2)B(5C4)=88
(D) 216D256=—1600
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Q21 WP+ Q means that P is the sister of Q,

P+ Q) means that P is the mother of Q and
P % Q means that P is the brother of Q,
which of the following means A is the aunt

of D7

(A) A+ ExD
(B) F+A+ExD
(C) A+B+CxD

(D) AxE+BxC+D

Select the option that is related to the third
term in the same way as the second term is

related to the first term.

Pressure : Pascal ;; Current : 7

(A) Vohe
(B) Joule
(C) Watt

(D) Ampere

Q23

SNEEC

Q22 IR P+Qw1 el & f5 PO 87 &

P+Q@ aei & 5 p,Q & #i & 3y

PxQat apl @ fs Q@ wd &
Fr=ferfaa @ 9 fower aed & 5 A.D#
qrdl /| /o /w5 / qan /A 87

(A) A+ ExD
(B) F*A+ExD
(C) A+B+CxD

D) AxE+B=C+D

a8 fawen g o S v 9 S o
gaR Hafow &, B yen o v T

g o waea &)

g Uihd - 1 U4

(A) e

B) 5=
(C) are

(D) tfmR
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Q25

Read the given statement and conclusions
carcfully and select which of the conclusions
logically follow(s) from the statement.

Statement:

The changing trends in Indian cinema has
witnessed big budget star powered movies
doing poor business and a lot of small budget
content driven movies eaming good business.

Conclusions:

(i) The low budget movies are huge hits
due to their story content irrespective
of the star cast.

(i) The big budget movies are flop at box
ofTice lor casting big stars.

(A) Only conclusion (i) follows.

(B) Only conclusion (ii) follows.

(C) Both, conclusions (i) and (ii) follow.
(D) Neither conclusions (i) nor (ii) follow,

Village P is to the east of village Q.
Village R is to the north of village P.
Village S is to the west of village R.
Village S is towards which direction of

village P?

(A) South-cast
(B) South-west
(C) North-west
(D) North-gast

LM-B
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Q24 fRu v FoF 3w Fresd & am A wd

Ak Fiftaa =X & @ w/@ P
af%s ®9 | ST B A Bl
/o 2

S

Ao frm # agad R gu am A
ol < @ ¢ o o (Faen) #
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e -

() Forl (Faer) @ g # e
Hee A dd §Y A Fur |@rfl @
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(i) @& R (Fersnl) @ au & B
T3 qure ) vt dfe aifftrw uv
IHA T8l B |

(A) @ae Fepd (i) s s )

(B) @ad frepd (i) arwver &ven £

(C) =, Framd (i) aftw (i) arparor &)
g

(D) = @ Fepd (i) 8 (i) STav e
gl

7itg P, 7 Q& Y& # & | g R, 7 P@
I A 2 g S, g R & ufaw d 2
nita S, 7t P e R & aiw &7

(A) <févor — gd
B) =@ — uf¥m
(C) ¥R — uf¥=m
(D) 9w — @@
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Q26

Q27

Q28

SECTION-2 | GENERAL KNOWLEDGE | 50 QUESTIONS

Which of the following keyboard shortcuts
displays the Start menu in the Windows
operating system?

(A) Crl+Z

(B) Alt+ Spacebar

(C) Cirl+Esc

(D) Alt+ Enter

Who among the following is known as the
‘father of computing'?

(A) Charles Babbage

(B) Tim Bemers Lee

(C) Philip Don Estridge

(D) JamesGosling

Windows 10 was first released as a preview
on which of the following days?

(A) | January2013

(B) 12July2014

(C) 1 October 2014

(D) 12 December 2015

LM-B
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Q26

Q27

Q28

Frfefiaa 79 o9 W o yed dg-uy
(@1 @12 vidwe) Asrt ware= wonen
(@i Rrven) § wd i 3 aord
8?

(A) Cirl+Z

(B) Alt+ Spacebar

(C) Crrl+Esc

(D) Alt+Enter

fpiferfeaa & & fra afm & @i
H WS B WY H A1 T 82

(A) T Haal '

®) fo ot

(C) fivfera < TR

(D) W% TRE=T

fif€ror 10 1 yget U@ yaiaeiia & w9 #
freforfaa % & frw o ol fasar
77

(A) 1 SF=ar 2013

(B) 129w 2014

(C) 1 3&gar 2014
(D) 12 feHav 2015
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Q29

Q30

Q31

Q32
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Every year, in which of the following districts Q29

of Uttar Pradesh is Bateshwar Mela
organised?

(A) Kanpur

(B) Varanasi

(C) Mathura

(D) Agra

What is the suitable time of sowing the Q30
indigenous variety of cotton (kapas) in Agra
district of Uttar Pradesh?

(A) First fortmight of April

(B) Mid-April

(C) First fortnight of May

(D) Mid-May

As per Census 2011, what is the population Q31
growth percentage of Uttar Pradesh?

(A) 20.21%

(B) 20.23%

(C) 2030%

(D) 20.32%

In which of the following districts of Uttar " Q32
Pradesh is the Union Government’s opium i
factory located? :

(A) Varanasi

(B) Ghazipur

(C) Ballia

(D) Kanpur

14

I vy & Fefafe 4 @ e R
7 gfty o s2van den s A wren
87

(A) PTgR

(B) T

(C)

(D) 3

I HeW & v e § o8 (@)
#l e fe A qard @ suge v
frafafaa 4 @ o @ &7

(A) WA & UBS qE@arE

(B) 3ld &1 T

(C) A% &1 UBE! w@ars

(D) #E @1 ey

a4 2011 N TEATUET B I[N, I
vas o wHen & gfy witvee @m 82
(A) 2021%
(B)
(©)
(D)

20.23%
20.30%

20.32%

e e & Pefafan 4 9 e e
H dig aven B i @ dad) fem
22
(A) TR
(B) rmaiiqe
(C) aferm
(D) PG
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233 In which of the following cities of Uttar

Q34

Q35

Pradesh is Modern Coach Factory, a rail
coach manufacturing unit of the Indian
Railways, located?

(A) Racbareli

(B) Mughalsarai

(C) Prayagraj(Allahabad )

(D) Lucknow

Kashi is a famous Indian pilgrimage centre
situated in Uttar Pradesh. It is located on
the banks ol the FIVEr,
(A) Gomti

(B) Saryu

(C) Yamuna

(D) Gangn

In which of the following cities of Uttar
Pradesh is the Govemment College of Arts
and Crafts located?

(A) Lucknow

(B) Kanpur

(C) Varmanasi

(D) Gorakhpur

LM-B
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Q33

Q34

Q35

St yan & FAfafaa 4 4 5w me i
adra Y& &t g Pt g, amgfe
¥ w da (Fie o ) fem #7
(A) TR

(B) A

(C) WIrRTS (FeETEns)

(D) s ET%

g wen ¥ Rum #el v aftg i
i @iw & 78 Frafaftes & 9 e 9@
# e 1 ferg 87

(A) TTreh

(B) wvg

(C) T
(D) 71

o wen @ Fefeifea 4 9 e e i
e T vd e weifgmea (adie
s Jife JEw v ) fem 87
(A) TETH
(B) FFR
(C) AT
(D) TRER
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Q36

42879209

Q37

Q38

LM-B

Lucknow in Uttar Pradesh is famous for
which of the following handloom production
centres?

(A) Khari printing

(B) Saris

(C) Chikan work

(D) Brocade fabric

Firozabad, a city in Uttar Pradesh, is famous
for which of the following industries?

(A) Saris

(B) Cement

(C) Glass

(D) Locks

Who among the following did NOT provide
assistance to the British in suppressing the
revolt of 18577

(A) Scindiaof Gwalior

(B) Begum Hazrat Mahal of Awadh

(C) Nizam of Hyderabad

(D) Sikander Begum of Bhopal

Q36

Q37

Q38

TR Yo% B daE-e e Frefefeg §
W fow susva (Fsom) S d=i @
fou oftg 27

(A) = e

(B) =re)

(C) faa= &

(D) o & FUS

SR WS 1 e MRmmre, el
A 9 b 9am & fow wig 27

(A) €€

(B) #iFe

(C) #f"

(D) oA

Freiferfaa & & fsem 1857 @ fage =
w1

(A) Tarfeae & Riftar

(B) 1@y # 979 Euied WEd

(C) Bavmme & fFam

(D) Hure o fawew aw

SERIES-B-A




Q39 Thedecision toeffect the Partition of Bengal
was announced by the Government of British
Indiaon .

(A) 7August 1905

(B) 19July 1905

(C) 16 October 1905
(D) 1 September 1905

Who was the leader of the Ghadar
Movement?

(A) HarDayal

(B) Bhagat Singh

(C) Madam Cama

(D) Shyamji Krishna Verma

Q41 Who started the Mahad Satyagraha in
Mabharashtrain 1927?

(A) Mahatma Gandhi

(B) Sardar Vallabhbhai Patel

(C) Dr.BR Ambedkar

(D) Jyotiba Phule

Q42 Which ofthe following Acts was based on
the Montagu-Chelmsford Report?

(A) Governmentof India Act, 1892

(B) Government of India Act, 1909

(C) Government of India Act, 1919

(D) GovernmentofIndia Act, 1935

LM-B
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Q39

Q40

Q41

fafeer wRa WaR < 9Md & [AHeE
ar @ @ Fofa & Gwon @e @ 47
(A) 7 3°TET 1905

(B) 199 1905

(C) 16 @@ 1905
(D) | Faeiaw 1905

e SN @ e B 97
(A) B T

(B) Wl fis

(C) #s% &M

(D) Tl g7 aHt

1927 #, HERS H #ETS WAWE f&wd
Ay v ar?

(A) WeTer el

(B) TSN Toohiiig ueH

(C) & &1 I, sy

(D) wHIfrar el

frafafaa & @ @9 W s
Aierg—draerd R o amnfa ar?
(A) WRd E¥ar AfafaE, 1892

(B) R H¥aR AfEfaw, 1909

(C) " wvar fafram, 1919

(D) we wvar affam, 1935

41142440
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Q43

Q44

Q45

Q46

When did the Muslim League join the interim
government under the leadership of
Jawaharlal Nehru?

(A) 2 September 1946

(B) 14 September 1946

(C) 24 October 1946

(D) 14 November 1946

Who was the chairman of Boundary
Commission for India and Pakistan which
was announced by Lord Mountbatten in
19477

(A) Lord Curzon

(B) Lord Wavell

(C) ClementAttlee

(D) Cyril Radcliffe

The latitudinal extentof India isfrom
north to north.

(A) 8°2°;37°4

(B) 8°4';37°6’

() 87 .3re

(D) 8°3°;37°%

Which one of the following rivers does NOT
fall in the Gulf of Khambhat?

(A) Mahi

(B) Sabarmati

(C) Koyna

(D) Tapi

LM-B
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Q43

Q46

FARYAR Ae® & g § Jikem o,
yaftn wwer # wa wiwfea g o
(A) 2 e 1946

(B) 14 ficdav 1946

(C) 24 3N 1946

(D) 14 7Ha% 1946

1947 % <€ #eedes g1 Hifta ARa
R wivwm & fog ¥ smam &
el P A7

(A) i wofA

(B) wifS daa

(C) Fivie yeeh

(D) fufte Yefoaw

AN P fAwe . W W
O ad B

(A) 8°2°;37°4

(B) 8°4’:37°¢’

(C) 8°7°;37°9

(D) 8°3°;37°5

ol § 4 o9 @ 98 g@9m A
Qe # €l e 87

(A) 5rdt

(B) HmEH

(C) ®F

(D) e
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Q47

Q49

Q50

Which is the highest point of the Meghalaya
Plateau?

(A) Khasi-Jaintia Hills

(B) GaroHills

(C) Mikir Hills

(D) Shillong Peak

As per census report of 2011, which of the
following states does NOT have tribal
population?

(A) Haryana

(B) Goa

(€) Gujarat
(D) Bihar

The Bhutia tribe, widely known for their
traditional grandeur, art and cuisine are found
in state.

(A) Sikkim

(B) Nagaland

(C) Arunachal Pradesh

(D) Tripura

Which one of the following states has the
highest population density according to the
2011 Census report?

(A) West Bengal

(B) Kerala

(C) Untar Pradesh

(D) Bihar

LM-B

Q47

GYPELRLY

Q49

Q50

AU UOR @ wad Sl 9 I W
27

(A) @Rl geifedt

(B) I wEIfEal

(C) fafew verfedi

(D) ferer =)

2011 & w=rn RO @ agEr.
Fr=fafaa 4 & 5w v § seda
e el 87

(A) sftamom #

(B) har #

(C) T #
(D) fasw #

Hfear Grranfer, S sToei aRRe s,
&l 3R yr—deh @ e @ s @
ot ol B, fare wow o wig o @7
(A) Fafesm 4

(B) ArTts #

(C) ¥ovmad wew §

@) fagw %

2011 @ wvE RO & SER,
Frafafea 3§ 9 5w v 4 o
U el 27

(A) uféeEm dma

B) Ixa

(C) IR w2y

(D) faEr
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Q51

Q52

Q53

LM-B

Which region in Andhra Pradesh is actively
engaged in the production of petroleum?
(A) MahanadiBasin

(B) KrishnaGodavari Basin

(C) Narmada Basin

(D) Cauvery Basin

Mount Elbrus, one of the highest peaks in
Europe, issituatedin .

(A) Germany

(B) Switzerland

(C) Russia

(D) Ukraine

Which article of the Constitution of India
deals with “equality before law’?

(A) 14

B) 13

< 17

(D) 26

BFFEFLEY
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Q51

Q52

Q53

i waw & Prafafen 4 @ wd=
g w9 | Igiferm @ wara | g
2?7

(A) wEmE 4=

B) P M ARk

(C) =iar afm

(D) ad Al

WY & Teow da frad § 4w
HISE Uoaw wel fud 87

(A) T

®) Rogoete

(C) w9

(D) g+

e st w Pl 4 @ @
w1y e war o o @
WA WA § e 87

(A) 14

®) 13

© 17

) 26
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Q54

Q55

Q56

Provisions regarding the promotion of
international peace and security are outlined
asapartof ___ ofthe Constitution of
India.

(A) Fundamental Rights

(B) Directive Principles of State Policy
(C) Fundamental Duties

(D) The States

Who is the appointing authority of the
Govemor of a State in India?

(A) Prime Minister of India

(B) ChiefMinister of the concerned state
(C) The President of India

(D) The Central Cabinet headed by the

Prime Minister of India

Who was appointed as the National Security
Advisor of Indiaon 31 May 20157

(A) MK Narayanan

(B) Brajesh Mishra

(C) AjitDoval

(D) JN Dixit

A03L40

a1

Q54 avereia Wity iR GRen B q@T 3 |

waftm wraaE, AndE Wi @
fr=ifafa #§ & foas o o @ 0 4
efeerftom &

(A) Wi afrer

B) woa & g e Rgha

(C) e wda

(D) gt

wRa ¥ fad v & e @ fgf

mftrer frafafea 4 | 219 8o &7

(A) WNT & WEEHA

(B) wdfera wroa & qEgeal

(C) WE & I

(D) WIRE & WFHAT B e § Ha
LIELEE

31 #§ 2019 31 ARG @ UG GO
waweR & w9 | fFa Fige G
ar?

(A) @, TRECH

(B) wore fAs

(C) ha Srre

(D) tyA. e
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Q57

Q58

Q59

LM-B

Which of the following statements is

INCORRECT?

(A) The procedure for impeachment of the
President has been described in Article
61 of the Constitution of India.

(B) Impeachmentmotion can be presented
in any house of the Parliament.

(C) Impeachment resolution can be passed
by a majority of not less than two-thirds
of the total membership of the House.

(D) The President could be impeached for
violation of national security.

Who was appointed as the Finance Minister
ofIndia on 31 May 20197

(A) ArunJaitley

(B) PiyushGoyal

(C) Nirmala Sitharaman

(D) Rajnath Singh

According to a G-20 surveillance note,
prepared by IMF in June 2019, India’s
economy isexpectedtogrow _ ip
2019.

(A) 6.3%

(B) 7.3%

(C) 8.3%

D) 9.3%

e

%
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Q57

Q58

Q59

fFrfafea 4 &t & w1 aus Taa &

(A) s & wiarE & aqede 61 3
wEyia & A @ ufdar @
aofe s mar &)
(B) AEINART W g @ fae of
e ¥ wwqa fmar o waar @)
(C) =T wwarma, =1 o e wawa
@ T-fEg A af® agwa @ wla
& o wwar &

(D) SRt W UK e B Sewe B
fere wifvainT aamn o waar &)

31 %1 2019 &1 Wvw @ frer At & wy o
frefofe & @ 59 Pregaa s
1?7

(A) %1 Seel

(B) Ry 7w

(©) Frfen dramsor

D) o Rie

ST 2019 3 . wH.Uw. (IMF) g1 &am
W20 el fRwdt & arpar, 2019 4
N @) areferawen e Rer) i T
# gnfig &7

(A) 6.3%

B) 73%

(C) 8.3%

(D) 93%
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Q60 Mahila Shakti Kendra (MSK) under the

Umbrella Scheme Pradhan Mantri Mahila

Shashaktikaran Yojana (PMMSY') has been

approved forimplementationduring .
L (A) 2016-17
) (B) 2018-19
(C) 2017-18
(D) 2015-16

Q61 MahatmaGandhiwasagainst __ of
India.
(A) slow industrialisation
(B) rapid industrialisation
(C) British mode of industrialisation
(D) American mode of industrialisation

Q62 Whoamong the following was swom in as
Chief Minister of Arunachal Pradesh on 30%

| May 20197

‘ (A) Jarbom Gamlin
.l (B) Kalikho Pul

l (C) PemaKhandu
| (D) Nabam Tuki

LM-B

Q60 wurHAt witar wufEsyo A
(PMMSY) & simfa wfeen ofdm @
(MSK) &1 Frfaftea 4 @ 5w saf &
¥R st @ fog sk fear

T &7

(A) 2016-17
(B) 2018-19
(C) 2017-18
(D) 2015-16

Q61 wErw M Awa & @ fase 4
(A) ¥z shenfrafism
(B) #ha e
(C) shefrfravor & fafry gl
(D) ashehfrafimeo & aRe gaf

Q62 frafafea & @ 5w 30 W 2019 &1
ATUIE VAW & JEIHA B w9 H wyer
TEv &7
(A) o Aafers
(B) wferan yet
(C) o wig,
(D) T gh
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Q65

LM-B

Which of the following cyclones badly
affected the coastal districts of Odisha in
May 2019?

(A) Cyclone Sani

(B) Cyclone Fani

(C) Cyclone Tani

(D) Cyclone Kali

Which one of the following teams won the
Indian Premier League (IPL) trophy, 20197
(A) Kings XIPunjab

(B) Chennai Super Kings

(C) Sunrisers Hyderabad

(D) Mumbai Indians

In May 2019, the Central Government
created a new ministry by merging the
Ministry of Water Resources, River
Development and Ganga Rejuvenation and
the Ministry of Drinking Water and
Sanitation. What is the name of the new
ministry that has been formed as a result of
the merger?

(A) Ministry of Jeevan Shakti

(B) Ministry of Swachcha Ganga

(C) Ministry of Jal-Nadi Vikas

(D) Ministry of Jal Shakti
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Q63

w2 2019 % f=fafaa 4 A fvw awam
4 dfewm & odm Riet @1 g9 o
warfaa faar?

(A) wmard |

(B) =T Il

(C) =T

(D) ThaT Hici!

§isg Wifaw &r (IPL) 21, 2019
Frfofaa § 4 fow w3 ol

(A) fom @ do

(B) ¥=1¢ g fora

(C) Wiz Bevmarg

(D) Hag sfeaw

7§ 2019 %, BE WRER A O W, T8
R@m v M saew dEey o
Ygue A W Gae & iay 3
TS 91 4919y 391491 |y @
RS S T Sy S T

IHST M FT 87

(A) ias oifder e
(B) =& T WA

(C) Wa—151 ™ wamea
(D) w1 wifde warey
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Q66 Which country conferred its highest honor, g Q66 T 2019 #, WG WEFEA TNE A

Q68

the ‘Nishan Izzudeen’ on Indian Prime
Minister Narendra Modi in June 20197
(A) SriLanka

(B) Maldives

(C) Nepal

(D) Israel

is a famous 49-year-old veteran Q67

Nepali Sherpa who scaled Mount Everest
for the 23" time in May 2019,

(A) Tenzing Sherpa

(B) KamiRita

(C) AppaSherpa

(D) Phurba Tashi

Indiais estimated to have produced
million tonnes of food grains (rice and wheat)
during 2018-19,

(A) 18337

(B) 383.37

(C) 28337

(D) 48337

LM-B
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o frafafaa § @ faa 29 3 o
wdre WA, e Iegde & e
o wr?

(A) et

B) AEE

(C) Aure

(D) FoRES

___ Um uitg 49 g dafpd
Aureht e & et = 20194 23% aw
uIge (avee @ 951 gO A & |

(A) q=fSiT Iy

(B) Frit e

(C) 3w Aeay

(D) W arft

2018-19 3 ¥NF ARG gW1 § A
fifers e sFme (aae AR A8 @

g fay s & s 87
(A) 183.37
(B) 38337
(C) 28337
(D) 48337
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Q69

Q70

Q71

Q72

Which state produced the largest amount of
rubber in India in the year 2017-18?

(A) Kerala

(B) Andhra Pradesh

(C) Odisha

(D) Kamataka

Which of the following share is contributed
by the Agriculture and allied sector in the
India’s gross domestic products, 20197
(A) 1439%

(B) 29.73%

(C) 15.87%

(D) 31.46%

What is the child sex ratio of Uttar Pradesh
as per Census report, 20117

(A) 898

B) 912

(C) 916

(D) 902

Which of following valleys is NOT situated
in the Himalayan Mountains?

(A) Karewas

(B) Bhagirathi

(C) Kathmandu

(D) Araku

]
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Q69

Q70

Q71

Q72

2017-18 # fFr=iferftaa 1 9 5w o= =
Hra # wed At vav &1 gwreA e
(A) B

(B) e waw

(C) anfEmm

D) Ffe®

UG @ WHd U 9T, 2019 # P
3R Hag o g o fvem whtvera s
&1 APTeF W gan &7

(A) 1439%

B) 29.73%

(C) 15.87%

(D) 31.46%

FToET RatE 2011 & JFH, FER WA
# are fefmequra @ 87

(A) 898

B) 912

(C) 916

(D) 902

Freffe % & @ @ U, Ree
i sjegen  Rerr T 87

(A) TRar

B) A

(C) o,

(D) IR
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Q73  Who was the first woman Governor of a state

Q74

Q75

in Independent India?
(A) Sharda Mukherjee
(B) Vijayalakshmi Pandit
(C) MargaretAlwa

(©) Saroini Naidu

According to IMD World Competitiveness
Rankings, 2019, Indiaranked _in
world’s most competitive economy.

(A) 14%

(B) 24*

. (©) 43¢

D) 51"

Bombay Stock Exchange appointed
____ asits first independent woman
director in May 2019,

(A) Jayshree Vyas

(B) Jayati Ghosh

(C) Rohini Pandey

(D) DevakiJain

LM-B
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Q73 wea wiwa W 5 oo Y g wfgen

Q74

Q75

T B 7
(A) wmeaT Ha
(B) Romash dfda
(C) wrf¥e s
(D) wAforf g

wdxnd (IMD) R whrest R 2019
® yar, fva i wife sfeaies
yeforaeen o R Ao ¥
I e s &)

(A) 14*

®) 24

(©) 43*

(D) 51"

T MR AR AT 2019% @y
oAl werm ¥t Afder Pdus @ v #
g s |

(A) ot @

(B) wrafy wiy

(C) fRey gid

(D) daa o=
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Q76

Q77

Q78

Q79

LM-B

SECTION-3 | GENERALSCIENCE / ARITHMETIC | 50 QUESTIONS

Which of the following organisms is a
colonial form?

(A) Amoeba

(B) Chlamydomonas

(C) Polysiphonia

(D) Volvox

Identify the INCORRECT statement about

class insecta from the options given below.

(A) Ithasthree pairs of legs.

(B) Ithas joined legs.

(C) Ithas one pair of legs in each body
segment. ;

(D) Ithas legs present in thoracic segments.

Ultra filtration and reabsorption process
takes place during the:

(A) circulation of blood in vessels

(B) transport of gases through blood

(C) excretion and urine formation

(D) exchange of gases during respiration

How much percentage of fresh water is
available on earth?

(A) 30%

B) 03%

(C) 0.3%

(D) 0.17%

Q76

Q77

43383449

Q78

Q79

Fr=ferfag 9 @9 W O U@ Sead
P WEY ¥ vEar 87
(A) a3

e faw v Rwedt § & gt gheeT (@)
B wed # TaAd FUT B GETE BN |
(A) &89 O SIS 3R 9T oI #
(B) & IR W # S B ¥
(C) 3% T TR-Ts § @ WS
i g 21
(D) 3% weiig wei A i’ faemm
&l B

aifey Freges aiR Ao whvar faw

4R B 87

(A) afewRil # W@ daR & SRE

B) wF @ weaw 9 il & oaed @
ARE

(C) werearT 3R 73 frmfor & SR

(D) Yaua & awe i & amEE-wEE
& ERF

gedt o e wiererT oo o SueE
27

(A) 30%

(B) 03%

(€) 0.3%

(D) 0.17%




Q80

Qs1

Q82

Q83

Q84

LM-B

Which of the following does NOT
contribute to the pollution in water body?
(A) Heavy metal

(B) Ozone

(C) Microplastics

(D) Pesticide

Which of the following is NOT a greenhouse
gas?

(A) Water vapour

(B) Nitrous axide

(C) O=zone

(D) Carbon monoxide

Methyl orange indicator changes its colour
at which pH value range?

(A) 3.1-44

(B) 1.0-3.1

(C) 44-58

D) 58-7.0

Pharma vision 2020 is a programme to

develop India as leader in:

(A) Drug manufacturing

{B) Pharmaceutical research

(C) Providing human resource in
pharmaceuticals

(D) Drugdiscovery

In which year Capt. Rakesh Sharma travelled
to space in a Soviet space programme?
(A) 1981

(B) 1982

(C) 1983
(D) 1984

G FECYEY

Q80

Q81

Q82

Q83

Q84

Frafefag & & =, wom e #
EFArd WgEv § AR S T8 Sedr?
(A) = =g

B) 3T

(C) gmrenReas

(D) FNeAEE

frfofaa & ¥ 71 o fFEew =
a8 &7

(A) T areq

(B) g 3ifeaiss

(C) s

(D) A AFRiEEEs

fenge ol wHaas faa pH o=
Y ST T gEear 27

(A) 3.1-44

(B) 1.0-3.1

(C) 44-58

(D) 58-7.0

AT B9 2020 9Ra F1 e s
w1 A el o33 & @ odfeq &7
(A) afrafer fomior
(B) afafer arg=aEm
(C) MRt F wm HomE ws= HeE
(D) 3mfEr & @

e @y I 4 5w af | v wifta
aaRer Srdma § 3iafer @ g 3 o
(A) 1981
(B) 1982
(C) 1983
(D) 1984
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Q85

Q86

Q87

Q88

Q89
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The Goiter disease is caused due to the
(A) . thyroid

(B) parathyroid

(C) thymus

(D) pituitary

The working principle of a transformer is:
(A) Self-induction

(B) Mutual induction

(C) Electromagnetic induction

(D) Lorentz Law

The wave nature of electrons was first
experimentally established by:

(A) Photoelectric effect

(B) Double slit experiment

(C) Davisson and Germer experiment
(D) Compton effect

Which is the causal organism of small pox?
(A) Rubellavirus

(B) Variola virus

(C) Ebolavirus

(D) Cytomegalo virus

The peptide bond is formed between:
(A) Amino group and hydroxyl group
(B) Two hydroxyl groups

(C) Amino group and carboxyl group
(D) Amino group and carbonyl group

Sickle cell anemia is caused due to the:
(A) deficiency of folic acid

(B) Abnormal levels of haemoglobin
(C) deficiency ofiron

(D) production of less number of RBCs
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Q91

Q92

Q93

The protein component of food diet is mainly
responsible for:

(A) energyonly

(B) energyand growth

(C) growthand repair

(D) growthonly

The Indian Institute of Chemical Technology
is situated in:

(A) Ahmedabad

(B) Prayagraj (Allahabad)

(C) Hyderabad

(D) Kolkata

Which of the following microorganisms
causes dysentery?

(A) Salmonella

(B) Shigella

(C) Leishmania

(D) Plasmodium

The study of all the factors that are
responsible for the appearance of a particular
disease is called:

(A) Actiology

(B) Epidemic

(C) Endemic

(D) Epidemiology

Grrioriy
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(A) wr=eEn

B) ferten
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(A) ufeamrh
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Q97
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Why is immunisation against common cold

NOT very effective?

(A) No vaccine against common cold has
been developed.

(B) Common cold occurs due to climatic

(C) A large number of strains of thinovirus
is present thereby making immunisation
ineffective.

(D) The causal organism for common cold
has not been identified till now.

The Nobel Prize for 2018 in the area of
Physics has been awarded for the work in
the area of:

(A) Laserphysics

(B) Blackhole

(C) Magnetic resonance
(D) Gravitational wave

Which of the following food items would
have highest per-gram calorific value?

(A) Ghee

(B) Maize

(C) Rice

(D) Meat

Ultrasound waves are NOT used for which

ofthe following purposes?

(A) Tolocate its prey by a bat

(B) Toknow the depth of sea bed by a ship

(C) Todiagnose defect in internal organs
of human body

(D) Todetect acroplane in any air space

GrrE9zey
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Q95

Q96

Q97

Q98

M wE-gam @ fvg Semwo

At wwrd = A B &7

(A) WP HEi-gam @ feg #1E @
< e 78 ey mr &

(B) ST eGSR Sierary uffRefot
% HRY B B

(C) & 4wl ¥ wgFAEwW & faf=
AR faemE wd & @ Sarm
Y AU T I} E)

(D) M wé-gam & i drers
offa &1 uga s o 6 8E )

Hifod! & & # 2018 &1 AT YRR
=t & & fag 83 ¥ fe 1o =
@ forg fRar my &2

(A) oo i & fog

(B) =i B1d B g

(C) gaara e & fog

(D) TowarREY a9 B fare

Frfofae & 9 sy @ verd ¥ o=aw
wfer M HaAr A Bar &7

(A) #t #

(B) wamT |

(C) 9

D) 7w #

feifeies 3 & e ogw @ fomg woea

AT (SresTaTe s doH) T WART A8l A

W 87

(A) THITES BT 3+ i &1 gar
GRIGH

(B) WU BT WS & T8 BT TEVS
A I

(C) wa ¥R & ariaf® 3t # gt @
e s

(D) FreTe &= # G BT GAT AT
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Q99 Identify the INCORRECT statement about Q99
water cycle from the options given below.
{A) Evaporation of water facilitates cloud
formation.
(B) Water vapour comes in atmosphere
through transpiration only.
(C) Melting of snow isa part of water cycle.
(D) Sunlight is also responsible for

evaporation of water.

A o e et i @ e 9w &

WHae 7 e B @ ugEE &Y |

(A) 91d % arediEeer § Gl o Fmin
g 2|

(B) WIel a1 dadl arkicdu @ AW
W & angrise # e 2

(C) 9% &1 MaEs1 ol 9% B U@ W

Bl

(D) e & amdfiawer & forg o &
YT Al IOegrEl BT &

Q100 Count of coliform bacteria provides an idea Q100 HEATETH e @ Hea il 4

of:

(A) E. coli infection in blood

(B) presence of E. coli in intestine

(C) microbial contamination in river water

(D) microbial contamination in packaged
food

Q101 Solve the following. Qlol

42 -2(25416 + 4 x 3 —4 x 4)+5="
(A) =5

(B) 4

€ -4

D) 5

Q102 If 1.5a=0.2b , then fimd the value of Q102
(a-5b) 4

(Ga+5b) 27°
(A) 1

B) -1

©) 2

(D) -2

LM-B i3

¥ fowe g ¥ U A ST S 87
(A) v # § Pl o HaHHvl

B) a7 A & Flary & gulefy

(C) 7 @ wIe ¥ o Heuo

(D) T&=mae wro A Al deu

freforian @1 & &Y |

42 —-2(25+16 + 4 %3 —4 x 4)45=2
(A) -
(B) 4
(©) -4
D) 5

(]

% 1.5a=02b & A

TR e pp——
(3a+5b)y 27

(A) |

(B) -1

©€) 2

D) -2
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Q103 The product of the LCM and HCF of two
positive numbers is 72 and the difference
between these numbers is 6. The sum of the
numbers is;

(A) 6

B) 12
(C) 18
(D) 24

Q104 Solve the following.

236-305+433="7
(A) 364
(B) 334
©) 343
D) 333

Q105 If 8" x 647 x 40* » 25" = 40P,
then what will be the value of a?
(A) 0.5
B) 0.7
(C) 0.9
D) 1

Q106 By which of the following largest number
should 2270, 3739 and 6677 be divided to
obtain the same remainder in each case?
(A) 1459
(B) 1469
(C) 1479
(D) 1489

LM-B

4 5 FR0G
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Q103 = eI HeEARl & dgan aeads
(LCM) 3fR 5&wm Tamads (HCF) &
AR 72 8 3R 9 HemRil i 6 @i
FHow & | HEai &1 A @ Een?
(A) 6
B) 12
(C) 18
(D) 24

Q104 Fr=iferfaa =1 ga &9

236-3.05+433=7
(A) 364
(B) 334
(€ 344
(D) 333

Q105 Af 8" « 64° % 40™ » 25" =40°% T a
21 -
(A) 0.5
B) 0.7
(C) 0.9
D) 1

Q106 wdw Rufy # wagen 9w wia o &
fere wamsit 2270, 3739 3R 6677 @
Fefofea 4 9 e e G s v 9
fepmforr feam s =nfRe?

(A) 1459
(B) 1469
(C) 1479
(D) 1489
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Q107 X and Y are two compounds formed by the

combination of silver and copper in the ratio
ofd: 3and 4 : 7 respectively. Equal quantities
of these two compounds are melted and
mixed to form a new metal Z. Now metal Z
contains silver and copper in the ratio of:
(A) 41:33

(B) 41:36

(C) 33:41

(D) 36:41

Q108 If Raju eams 20% more than Vijay, by what

percentage is Vijay's eamning less than that
of Raju?
(A) 25%

50
(B) “} Yo

0N
(C) 3 8

a

D Dy,
©) 3™

Q109 A mobile was sold by two mobile sellers at

atotal gain of 45%. [fthe first seller sold it at
a gain of 25%, then how much gain
percentage did the second seller achieve?
(A) 20%

(B) 18%

(C) 16%

(D) 14%

Q107 X afe Y =y dfrs & ot Fnme 4 3 3l

4:7® U ¥ 91 of ia @ faso @
a9 &1 g1 ST Afrsl A W A @
fauense wF a€ My-um z Affa H
oimelt & | 3@, s Z 3 ard) af o
1 AT AT wpe

(A) 41:33

(B) 41:36

(C) 33:41

(D) 36:41

afe ¥, e & 20% afes s il
wean 8, o Roa g st s wgg
g Aiftter ama & gorn § o it
&n 87

(A) 25%

(B) _T%

R
© 5%

20
(D) 3 %

Q109 UH gaga, o AaEd Amast g 45%

® e T IR qn | Al usd R
T §W 25% B ™ R 4= 8, o e
faghan A e wftvera @ wre
(A) 20%

(B) 18%

(C) 16%

D) 14%
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Q110 A fatherand son working together can finish
apiece of work in 24 days. If, for the last 6
days, the father alone works, then the work
is finished in 26 days. In how many days can
the son alone finish the work?

{A) 72
(B) 70
(C) 68
(D) 66

Q111 X, Y and Z completed a piece of work
costing T 4,480, X worked for 4 days, Y
worked for 6 days and Z worked for 8 days.
Iftheir daily wagesare in the ratio 5 : 6.: 7,
how much amount will be received by X?
(A) T 800
(By ¥ 1,200
(C) T2,400
(D) ¥ 3,000

Ql12 A train leaves Hyderabad at 7 am and
reaches Vijayawada at | | am. Another train
leaves Vijayawada 9 am and reaches
Hyderabad 12,30 pm. At what time would
the two trains cross each other?

(A) 9:50am
(B) %:56am
(C) 10:02am
(T 10:08 am

Q113 Atank9m long, 4 mwideand (1/3) m deep
is dug in a field 24 m long and 14 m wide. If
earth dug out is evenly spread out over the
remaining field, the level of the field will rise
by
(A) 4.5¢cm
(B) 5cm
(C) 3.5cm
(D) 4cm

LM-B 36

Q110 v far sl gz feew fh o @1 24

Qi1

4307209

fa=t # g a¢ wed 21 AR, aiftm 6 =
o oaet SR @ear & o & 26 R
H WIS & W 8 | O3 el e R
i 1 gu Y wdHar 87

(A) 72

(B) 70

(C) 68

(D) 66

X, Y alR 2 A 74,480 0 @0Tq AT U
o gl | X+ 4 R o fan, v
6fas ailw 29 8 e wrd fasan) af
I afE 999 5:6: 7S AFUE | B,
ar X & fieem aa—ien fei?

A) T 800

(B) T 1,200

(C) T 2,400

(D) T 3,000

Q112 T YS! Yo 790l gevEe § qH

FY & R ga' 11 7o Aoare wgead
2| U 37 XS favrarer @ 94w 9
qul WRYT Hee § afiv SIuEr 1230 99
BovmEe wEwl ®| ST Yomiedt e
Ty @ fhe wHa 9R FH?

(A) a8 9:509%

(B) §9% 9:56 W

(C) |a® 10:02

(D) gaw 10:08 9

QI3 24med 3R 14m e U @ § 9m

4T, 4 m drer 3R (1/3) m 7w U@ 8w
e T | afy W) g A @ e
T Y Y WA H Herdr A, o wWd &)
Garg fha ag wmedl?

(A) 4.5¢cm

(B) 5em

(C) 3.5¢em

(D) 4em
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Q114

QI15

Ql16

Q117

42110208

Atapcan fillatank in 8 h, After half of the
tank is filled, four more similar taps are
opened. What is the total time taken to fill
the tank completely?

(A) 4h46min

(B) 4h43min

(C) 4h38min

(D) 4h30min

01-01-2012 was a Sunday. What day of
the week was on 01-01-20137

(A) Tuesday

(B) Wednesday

(C) Thursday

(D) Friday

Read the following statements and select the
correct option.

1. In60min, the minute hand gains
55 min on the hour hand.

2. Aclock is started at noon, The angle
traced by the hour hand in
5h 10 min= 150°

(A} Only statement 1 is true
(B) Only statement 2 is true
(C) Boththe statements are false.
(D) Both the statements are true.

Inatriangle ABC, if £ A=90° then:
(A) SinA=SinB

(B) SinA=—5inB

(C) SinA=CosB

(D) SinA=—CosB

LM-B

37

Q114 UH 7 862 # U Tl HI WY Haharl 2 |

Q115

Q116

I & W GF B gE, U UPR
AR AN A T Wil R B | Sdl B
oie: W e fvaen wwy a?
(A) 462 46 e

(B) 4 He¢ 48 fime

(C) 446 38 e

(D) 4= 30 fiFe

i 01-01-2012 @1 ¥@aw o) BeEe
01-01-2013 &I <76 &1 P & 2 ur?
(A) HreaN

(B) g

(C) AR

(D) Ypar

fPr=faftaa et o1 w2 aiR 98 faee
o |

I. 60 e ¥, firre & ¥g °2 @1 g
¥ 55 e amt &6 8

2. UF U SNEN & §HG HNH B
ol 21 S 10 fee 4 o2 @ g
EINT 1T T BT 150° 8 |

(A) Dad DU | T4 2|
(B) Hae HYT 2 T £ |
(C) =FT FHUF 3G & |
(D) =F ®u | &)

Q117 B ABCH afd £ A=90° &, @1 W&l

famen T

(A) SinA=SinB
(B) SinA=—SinB
(C) SinA=CosB
(D) SinA=—CosB
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Q118

QL9

Q120

o
5

Q122

If 22 — 3x+ 1 =0, then the value of
+x+ (Ux) +(1/x") will be:

(A) 7

B) 8

(€) 9

(D) 10

Angles A, B and C of a triangle are in
arithmetic progression. AM is perpendicular
to BC. Find the value of BM/AB.

(A) 14

(B) 13

(©) 12

(D) 34

10 is the mean of a set of 6 observations and
5 1s the mean of a set of 4 observations. The
mean of the combined set is:

(A) 7.5

(B) 8

(C) 85

(D) 9

2
If20%o0fA=0350fB= 5 of C, then

A:B:Cisequalto:
(A) 14:8:7
B) 12:8:7
(C) 11:6:5
(D) 13:8:5

15 litres of a mixture of milk and water
contains 5% water. How much pure milk
should be mixed with it to get a mixture
containing 2% water?

(A) 20.5 litres

(B) 21 litres

(C) 21.5litres

(D) 22.5litres

LM-B

QS AR 2 —3x+1=08 a1 LC+x+(1/x) +
(1) &1 51 a7 8
(A) 7
B) 8
(€ 9
(D) 10

Q119 &0 Brpa & & @ A, Balv C
wHiae 4o |/ & afiv AM, BC W &g
21| BM/AB &1 9 @1 €117
(A) 174
B) 173
(C) 12
(D) 3/4

Q120 6 Wil & wyea &1 wma 10 8 3w 4
Well @ W @1 wma S &) Al
HHEAT 1 A a wnn?

(A) 7.5
(B) 8
(C) 85
D) 9

.
Q121 afg A®T20% =B &1 035=C & : g,

GOZBEDYY

a1 A:B:Cfowa wigen g
(A) 14:8:7
(B) 12:8:7
(C) 11:6:5
(D) 13:8:5

Q122 15 wfiex gy afv et @ fsivr # 5% ol
21 2% STt arerr fAsor e v @ fag
309 faaen g gu Memar wen aifgg?
(A) 20.5#ew
(B) 21@fex
(C) 21.5dex
(D) 22.5diex
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Q123 A and B together can complete a task in 9
days, whereas B and C together can
complete it in 15 days. All three can
complete the task in 6 days. In how many
days will A and C together complete the
task?

I
(A) 65

B) 6

€) 6=
© 67

(D) 6=
7
Q124 Two pipes, A and B, can fill acistern in 36
min and 45 min respectively. Both the pipes
are opened together in the cistern. A fler how
much time should A be closed so that the
tank is full in 25 min?
(A) 13min
(B) 14min
(C) 15min
(D) 16min

Q125 fa*+ b*=a’, thena®+ b* isequal to :
(A) O
(B) 1
(C) @+ ¥
(D) a'b + ab’

LM-B

i
-:'hl

39

Q123 A3 B feran v @i 9 =t 4 gof @
"o 8, e B v C fiday g9 15
feel % yoi @ W& &) A1 v |w
ey @il 6 =it # qof v W &1 A
IR Cuw W fasy o8 o9 feam
Rt # o

I
(&) 6
(B) 6

g
(© 63

{D}ﬁ%
Q124 31 uigy A MR B tw FE (Rwed) @
a9 36 M afiv 45 fse A w3
£ g9 g1 wigyl & e () 7 @
W @il 9w & | A9 A e e
a8 fsar o WY @& g8 (Riwe) 25
fvre & W Gig?
(A) 13 fiFe
(B) 14 e
(C) 15 Mhwe
(D) 16 fi=e

QIzsaR e+ b =g B W o +b* fHuD
AR BI?
(A) 0
(B) 1
(C) &+ I
(D) &b+ ab®
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SECTION-4| GENERAL HINDI | 25 QUESTIONS

Frafafan s @1 seams Fifog
afw s fav wv et (wer w126 -
128) & TEN |

W =3+ R @ @& ofes &1
e AR de & v @ @ BN
Tifae &, v s 3 9w @ & ura W
a1 garr fRAvmfer & | 5w vaw v
ol & anwra @ sgafea $9 @ Sl
ween ® Al ol a6 99 o aweEo
e &, ar g9 o8 @ ATET B B
w8 wa ey anfay ar @ey
aar &7 gu aed W gued 7h mits 98 2
ot wr den dae o a8 &, afee
o @1 oy € T B ) g9 ouefa F
arnr @ 87 annl od € w gl W
B—arerer | afdifEer e 7 8, udl o
% aered wwre of) 5 R, g e A1
it o il @ 8, afw ol Ren @
99 99 Ay 0 R Ramn 8 W
gured 29 € B | 3 ueR U@
Trife @ ve e aprE s
T 8 At v wfeme soeE w
ua 8, wif W @) @9 § &9 g
! gl @ age oftgs &) 5 uaw
arafta s uea @ @ifs ow aunf |
THR B W 59 98 @ e g
arem # aft s @ e ArE wd ae
8 sl wi gt &1 gas e s
g &, afw arife & =), afes wf
vl @), @i Wi aei @ e
a Frafy v & )

40

Q126

Q127

SuRia TeAiw 1 wqfaa fiis qfie
(A) a1 &1 U 39d

®) 3= =

(C) wreha g9 afw offa=

(D) ¥sr 4 yfw

IGRIGT TEUI 1 weger Hife
(A) =39 o= &1 uE w5l anf @
3w o anifret & gwer aom
@ B 8, A aeifie & af,
dice Wi el o, wife
719l & <ifde o Fafy s @
2]

TEi wei Riamm @ & offes @
U g AN o ®, s @
wirer g9 sifde &, afe afo 4 a9
AL B OUTR B AT W
fremfrer 81

=3 W & e & sgmfen
HY B St o & e ol
@ I g ahaal Aad &, a8
TH T8 T TN ' @ ufh
21

W 5 oiaE @ o A
Fva 99 g At ufsar f aamn
2l @8 & 9 @ 99 @dad
T el € afes SueT am &
T &, § Svafer 3 wyw ann &
=, o = & g & W
gl 59 yon Inife ) wd
Igmiaa & vsm & afe aw
guref | UHR B @) g
AR ST ArERer &1 uTA
W 7t @) @een g 8

(B)

(©)

(D)
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Q128

Q129

Q130

LM-B

IURIEE MUY F MW 9Y goigy (& Q131
aurel & wite § wi@ ann 7 #7

(A) 319

(B) it

(C) fAafe

(D) e

e ]

T B i B f5E yER @ Q132
IETEY R7

(A) Freagaras

(B) fFraTaES

(C) Fromares

(D) Wy wAH

TEG, W WeR #R

Rmem & farfR Ry st Q133
R} IugE T g

(A) afE

(B) ¥arm

(C) wfvarE=

(D) P

41

U3 & we" ¥ Frafaiaa @ 9 e
‘yfiare & 87

(A) fear-g=

(B) pieiy

(C) fm gq=

(D) 9T FIETHIEN

fr=fafaa 4 | e v afEr
WA Toiel | uaita wven Fam,
ey s A FEn S ww A g 87
(A) vA

(B) ufu=

(C) wferge=
(D) HATAG AET

s fewe s T 87
(A) feet &

(B) wefdg @

(C) wem aof &1

(D) ®R &
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Q134

Q135

Q136

Q137

LM-B

o w1 & s=ry A gar e @ ) Qi38
Feah t od @5 &)

(A) Frgnfes

(B) IFTH® ¥

(C) s e

D) Frew ww

TN & WR-fawe = e Q139
(A) T+ W
(B) Y+ W
€ §+W

L PO A

D) T+ W

wowg fw amre &1 gamevr #7
(A) gy Q140
(B) S¥uR™

(C) wdga
(D) 3R

I W A o wer - aray § Yifha
W& B | W 87

(A) Jowaras

B) Fommas

(C) Frragams

(D) sfFrEgaTas

42

ST A Hew &1 - ww A B
1 T faEor &7

(A) 3

(B) 3arcua

©) ¥

D) &

W A wes
Raw v w3 & fog sfm w9
(A) =i
®) W
©) wd
(D) ¥

29 o i wftaa TY

=

3a6g W - Rew wm @ @ fag
ST W g |

(A) S=ia

®) wfa

(C) gh&
D) e
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Qi41

Q142

Q143

LM-B

g T arel TE g |
(A) gi=n
®) =
(C) duran
(D) ¥foran

WA 9F ford - few A @
FE 87
(A) wfare
B) FHar=
(C) wmaTen

(D) Ff—w+are

o fAaet ar Wl | - 5 veR
@1 gy 87

(A) amsel®

B) WeERi®

(C) TorRE

(D) HdHTAED

44360000

Q144 Fr=ifarfeas % & @11 wr 999 4= &7

(A) dg® UH qga & SUATH I3H 2|

(B) 919 3R 959 UP gi© g Gl
gl

(C) o€ Yoa & Foenial o fregard
g%

(D) MF® & aFH T T |

TR, B q9 e
T — gy & dm % Rew ==
# #19 w favm faes amen?

(A) e

(B) Fr&feRm

(C) THifm
(D) dws faes

=t w1 oR Ser—yerar @ aef qant |
(A) 3rlq g BT

(B) g0 Wedl-uiedl B

(C) T T TR

(D) f&s &1 9 we
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Q147 T8 g R MR o T — AP Q150 HR T AR THA B AGH B

&1 ] qad | 27

(A) R ¥ e WA {Y B 2| (A) eI ITH I
(B) dad o feamn) (B) TETEER AR
(©) TueT Thea W | (©) TR e |
(D) 3w sira & qgax 8 @ (D) #Ew B

BT |

Q148 P fE g7 &1 =T fd
HET I 87
(A) IR g

(B) AWIg
(C) v &4

(D) TO9iH THS

Q149 ‘ST’ & AR P &7
(A) el Ta
(B) T
(©) e Rig R

(D) Wg¥iHR AT

42760099
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ROUGH WORK /7% &t & fag

Aaca0al

45
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ROUGH WORK /3% &1 & fire

GO00Fe

&

46
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ROUGH WORK /7w &1 & farp

N Evr

47
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Read the following Instructions carefully :

Fr=fafaa Adat & am @ o2 -

1. Out of the four alternatives for each question, only
one circle for the comect answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet, The answer once marked is not liable
o be changed

. The candidates should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
else except in the specified space in the Answer Sheet.

. Handle the Test Dooklet and Answer Sheet with care,
as under no circumstances (except for discrepancy in
Test Booklet), another set will be provided.

The candidates will write the correct Test Booklet
Series as given in the Test Booklet in the Atlendance
Sheet.

Each candidate must show on demand his / her Admil

Card to the Invigilator

. Mo candidate, withoul special permission of the Center

Superintendent or Invigilator, should leave his / her

seal.

The candidates should not leave the Examination Hall

without handing over their Answer Sheet (o the

Invigilator on duty. Cases where a candidate has not

signed on the Attendance Sheet will be deemed not to

have handed over the Answer Sheet and dealt with as
an unfair means case.

Use of Pencil/Electronic/Manual Calculator is

prohibited.

The candidates are governed by all Rules and

Regulations of the Commission with regard to their

conduct in the Examination Hall. All cases of unfair

means will be dealt with as per Rules and

Regulations of the Commission,

10. After Examination is over, candidate has to return his
Answer Sheet to invigilator, Invigilator will hand over
the Candidate’s copy to candidate, then only
candidate is allowed to leave the examination hall.
Candidate is only allowed 10 take Candidate’s copy of
answer sheet.

I1. Candidates are not allowed to take Test Booklet with

them. They have to submit the Test Booklet ta the

lovigilator after the exam.

L WS U @ fov Re m 9 Rewi 4 |
e IR @ foU A R IR O vEe W
Fac1 T el 1 & g0 oNE F aE dige
U ¥ W UF TR g sifea fve o @
arg T qEar A8 o waar &

. et ghiftaa & @ o gx@ @ e
A SC U9 9 UY @8 ar P | e
udlemefi s arEgEEie SR wEe o Pt
A @ sfofRea amaa 7 fawd

Tdlen Ud IR UHG & AFHE
v o, Fie B N aRftefy § @ag
qen gRast 3 B @1 BT Y gad od
qRTHT T4 IR UES SUSE A8 I
AT |

. wE g # @ i ofen gftaes Eo
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